(R0

PEHENESHEE
(R 7 )
1. iRER
BREL - FRI OB R (k) L/h,kg/h,Nm#/h
= JREL - Rt L
" WREL + RNy %
- WAL ORI R (RK) q Nm?h
% PEH AT A& (B0 H A& - 7 K) Qow Nm3/h
> HEH 7 AR £ C
o PR O (FE%8) o %m S Ho M
o PR D (%) TEORE (ER) D M
= IO E, REROSA TR A m?
fiE BEH A\ m/s
BRhESE g S He m
. AR g
b i & 1 q=K X 103 X He2=[ | x 103 x| | =] | Nm3/h

. AR g \

{ 7< . ~
EROEE a=[ I Nm¥h = ikt ¢ =[] Nmoh g-a
2. T C A

IFWDCARE (FR) Cs g/Nm3
i X o mR R 0s %
, X C AR C g/Nm3
b4
e e on %

‘ YRR IE A 10

ok BRIV U ARBEOMIER C= 21—5% % Cs= [__] g/Nms
YR L .

Y ) Jii5 A3 JRHIZW T A S
. = JoNm' = gy © =] eNm’ e
3.  ERBWY

ERBCWIIE (oK) Cs Ppm

o [ p
B X o 0s %
" ERBLIRE C Ppm
R e on %

‘ YRR IE A 1o

i IE A RHERRAAREOMIER C= —— 5% x Cs= ] ppm
YR L
U D R R —_—
4. HEWE
B | [ TR (o) C mg/Nm?
e H Y [ 1 RE C mg/Nms3
fOE fE | AEERRIR M EXEEEEAEOR) | C mg/Nm?3

\ R L R

HIEDE C=[_ JmgNm® = yyphrgs C= [ ] mg/Nm? - h




(1) mMERYOBEHEDHESE
o (Nm3/h) = BREHME R E@0/M) X HhE X B3 (%) X 0.007 (EIEBREIOSE)

(2) HEHAZE (BY) OFE

(3) FAIERESOFHEAE

O 15CICTBTLHHT A&

Qow 288 [ ]x 288

= = 3
3600 273 982800 [ Tm¥s

Q:

@ HEHH AR
T=273+t=273 +| | = | | K

©  PEHEE

_ Qow T 1| | | | 1
V= A~ 213 3600 ] X913 X T3e00 - [ Tos
@
J= — 1 % (1460 — 296 X ) 4+ 1
J(@Q x V) T—288
= 1 % (1460—296><Q)+1:
V(] | x| 1) [ ]—288 ]
® EECXY FRTZHES
Ht=2.01 X 103 X Q X (T — 288) X (2.30logJ + } — )
1
=2.01 X 10-3 X| 1< (] | —288) x2.30log[ |+ —1=[_  Im
[ ]
® EEEIZXLY FRTIHES
. X . X
Hime 07951f(2%8V) _ 0.795 V(| 2.!58| |):|:|m
v YT

@ HAEZEE
He=Ho+0.65 X (Ht+Hm)= [ |+0.65 X (| |+ | )= | | m




